SHAITHE O B F20] - EZ5(5HH XAl GSEEK

19, A= AIRE[T} IIATMOIR

¢ THof 57|

13 (fen) [R(=U M= BHel)
[Z(hou) ["]=2LL.

]
]
A2(bushi)A, TE(érshi)B AVt
$%(bdo) E]iti=g
]
]
]
]

i (bei) [7H]---=SICh (T S 2 LIEHH)
E7E(nazou) S]7EXI 1L 71t

i(réng) S]H2(Ch

& Z(fapiao) HE+S

<2 =2l thist
A: FRETHIEHE 2
L MRER?

B: BRAARI AR ARAING 2

1 A2=chAlo] 40| OfL|0l|R?

A BEIMEIREER, MEER.
L MF= F7H2 240 OfL|0l| R, &F2 70| 2.

B: 213 ? MBS FEE T
221R7 82 MFE ARV K.




SHAIE O HIRE= F20f - Z23/5HH XAl GSEEK

19, A= AIRE[T} IIATMOIR

¢ 2=2| AHR0IY

1. A OISE

AFEOILE AFZ0] OoffH €S SCHE TS| 2jn|
K FO(FSAL) + 4+ (HRAKE) + SAH+ 7 [EF =2
X pSAE? SHOILEHRISE 2L S5t AE

©

i

=

2

sz EE T HRAWMK, J= Lol MRE
Sz RIMEHREEE T, L2l M7=
BRI M2t FRIMBIREE T . Lol MFE 72717 f P@PMLIEh

ot

®

=
o

Sz I THRTAR, 2=
LSE  BIPARERMT T, 2 I+52
HRARe| H2E IR ERII T 1 FFE2



